Question Answer Marks [ AOs Guidance
3 | @ |ﬁ)‘|:,/12+72 =350 Bl Lla | Allow for PQ?
Allow finding
PR =(i+7j)+(4i -12j) = 5i - 5 M 1.ka Attempt to add vectors RP =-5i+3j
PR|=+/52+5% =+/50
| | ‘ o Al 2.2a | Must deduce the triangle is isosceles
3 | (b) PQRS parallelogram so PS = QR = 4i —12j M1 3.1a | Using the properties of the SPECIAL CASES
Position vector parallelogram Allow SC1 l.‘or correct
e o i = = . B 5 oa answer for either
OS:OP+PS:(_3I_J)+(41_12J)21_13_' Al 1.1 cao PQSROI' PSQR
[f PQSR used, then
[2] OS=3i+]j

If PSQR used, then
0S=-T7i+11j




